LetsPlayMaths.com

Decimals - 2

1. What is the expanded form of 75.42

4 2
a) 75.42=75+—+——
10 100
4 2
b) 7542=70+5+ — +——
10 100
4 2
c) 75.42=70+ — +——
10 100
d) None of these
5 2
2. What is the decimal number of 300+ 70 +2 + — +——— 7
10 100
a) 372.25
c) 372.52

3.1n 521.047, what is the value of 7?

a) 7 Thousandths

c) 7 Tenths

4.|n 521.047, what is the value of 2 and 4?

a) 2 Hundred and 4 Hundredth

c) 2 Tens and 4 Hundredth

5. Which decimal number is not an equivalent decimal?
0.05 0.005 0.050 0.0500

a) 0.05

c) 0.050

6. What is the equivalent decimal of 125.76?

a) 125.076

c) 125.760

7.4565.98 4565.098
a) =

c) >
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b)
d)

b)
d)

b)

d)

b)

d)

b)
d)

b)
d)

37.252

None of these

7 Hundredths

None of these

2 Tens and 4 Tenth

None of these

0.005

0.0500

125.0760

125.0076

<

None of these
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8. Determine the largest number. 32.07,32.007, 32, 32.707
a) 32.07 b)
c) 32 d)

9. What is the smallest 3 place decimal?

a) 0.999

c) 0.101

10. Follow the pattern and fill in the blank.
5.023, 5.028, 5.033, 5.038,

a) 5.041

c) 5.043
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b)
d)

b)
d)

32.707

32.007

0.111

0.001

5.43

5.143



